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PGIT - 102: Artit icial Intell igencc & Sol't Computing

Total Marks: 701

[Time: 3 Hours

lnstructions:
l. Figures to the right indicate full rnarks'

2. Eachsection shodiLe written in a separate answer book'

3. Be p."tis" and to the point in your answer'

SECTION _ I

Q-l Answer Fol lowings:
(A) Discuss I tc- t ac-Toe problem il terms of AI

(B) Describe *i;;";;;i',"i ". t19]:' 
for which breadth-first

would work better than depth-first search'

(C) Defrne :
r Backward Chaining
o combinatorial exPlosior.r
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Q - 2 
ili-Tff*:t"'::"two jugs-orwater'.A 3-gallonjug and 5-ga11on jug' Neither

hu, *y *tu'o'i"g'rt'titf.,'"t on it We can fill the water fronr outsource

pu*p' Ho* 
"- 

;;;;;v 4-gallons of water into the 5-gallon 1ug'

Defrne a problem oiWater Jug as a Stale Space Search'

(B) Oi"t" ign"'uit" unO i""touttuble Class of Problem ra'ith an example'

Q-2 Answer Followings:

(A) Describe Minrmax search procedT: Illl:,1 
*utol"'

(B) When steepest-ascent hill tlirnbing may fail and what is the solutron to

overcome it?

Q - 3 
ff-'Jo|.'i::XTrgf;r.l' p,.ok'rt,n q'lrere the state spa.e is represe'ted bv the

following tree:
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Eachnodehasanalphabeticlabelandanestimateddistarrcetothegoal.A
is the initial state, J and M are goal states'

a) Perform a breadth-first, and then a depth-first, search on the above

tree. List the nodes on open and closed for each iteration"'

b)NowperformaBest.Firstsearch'onthesametleearidl istthenodes
on Open and Closed as before.

(B) Assume the following facts:
. Steve only likes easy courses'
. Science courses are hard.
r A11 the courses in the basketweaving department are easy'

o BK30l is a baskenveaving course'
Useresolutiontoanswerthequestion,..Whatcoursewou|dStevelike?''.

OR

Q-3 Answer Followings:
(A) Consider the following sentences:

o John likes a.ll kinds of food'
t APPles are food'
. Chicken is food.
i Anything anyone eats and isn't killed by is food'

tsl

t71

t4t

Bill eats peanuts and is still ahve.
a) Tranilate tllese sentences into fomrulas in predicate logic'

bj Prorre the.john likes peanuts using backward chaining'

c) Convert the formulas of part a into clause form'
d) Prove that John likes peanuts using resolution

Use resolution to answer the questions, " What food does Sue eat? "

(B) Discuss following:
a) Problems
b) Problem sPaces
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SECTION _II

Answer Followingsl

ti 
-il"; 

il;J,;alnt salisf:clon Solve the fol lowi'g probl e m'Q-4

Q-s

CROSS

+ R O A  DS

DANGER

@) Explain admissibility of A* algorithrn' 'lustify it also'

Answer Followings:
i,q,J i.pl"i" resoLtion in prooositional logic'

tilj 6.i""f",rte problem characteristics ofthe given problem'
OR

O-5 Answer Fol lowings:
tl'i g"ptain resoiution in predicate l:ett 

,--,^ ̂ -
(s) what is trre dirrerence between fihzzy logic and binary logic' Explain with

suitable examPte
(C) What is wrong with the following argument?

r Men are widely' distrihuted over the earth'

o Socrates is a mau'
' fi'o"fo'"' Sottutt' it widely distributed over the earth'

o-6 Answer Followings:\' " 
iAl Explain Artificial Neural network'

ini rrove trre ruzzy Demorgan's law 
oR

O-6 Answer Followings:v " 
?li i*pr"in Biol'ogical neural networ k -. ,
iij 5"r"" trt" ftllJfung exampie usilg Fit-violation theorem
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x1 x2 x3 X4 x5

A 0.2 0.6 0 ; l 0 .9 0

B 0.3 0.5 0.2 0.8
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